H7
@ 52=13x5 © 20=22x5
® 80=2*x%x5 ® 120=23%x3x5
@ 84 =22 x3?
® 6,0 ® ©O,6 ® ©,6

® ©,0e ® 0,6,



@ 5 ® 3x5 @ 52 ® 10

@D 3
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AL A =22 x 3" O] oF40] |7h 24 D of, n €]

@D 2 @ 5 B 7 @ 8



4.

O <27]> 9 @, O ¥& A& vraA A2 AL2?

ArE 7HE fIdEt =5kt F )l A olFE o, 1
HE] 100742 9] A4 = Sk,
TAE Eoll AYES ZE E24A okl ok ta2 1
8 1007F2] 9] & -5t Alo|th,

14+2+3+4+--+50+51+---+98+99+100 —

1100+ 299+ 3-+98-++-- +50+51 ]
=101+101+101+---+101 ©
=101 X 50
=5050
® O 2IWH, 0 2TEA @ OB, © neEH
® @ 2eHH, O BMEE @ O AR, © R
G @ TIHA O BH






6. osF3A L2 A2
@ (+12) X (+5) = 60 @ (-2)x (=30) = 60
® (+4) x (-13) = -52 @ (-22) x (+4) = -88

® (-8)x(-9) =-T2



7. 300 ol5Fe] A% Fol A 28, 2x 32, 24 ©] FHGE ok 227

D 72 ® 144 3 180 @ 216 (B) 288



o|H AHASE 100 & W 4 7F EAL 70 & L}Lﬂd ol HETaL
ek olele A5 FoIA 1Y 2 A58 Fohd

@D 16 ® 18 3 24 @ 32 3B 48






10. 72l olzbsm A2 Bol7} s, 017} 2m A A&

oFe] ¥Eo] Gk, o] AL 2L WFOR Fo|=F ol F&

N 5 o, olele 457 5 18 A6 A6l 8 5219 dols)
BaF 9B AL E $ 78 AL

@ 8cm , 80 7 @ 16cm , 80 7N ® 36cm , 100 7

@ 40cm . 200 7 ® 80cm ., 200 7R



11. e 3= ZoA AAST7} obd A Z=0] 7|49

Q -6 © +0.5 @_g
®0 @+£ @ 8
@ -2

@ 17 @ 274 3 374 @ 470 ® 574
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@ |d| < lel

@ lal > le|

® |c| < |d|

@ 1| < |c|



13. e BE BEATE o 5 ut2s) AT ALY

T A
e a P47} ol
. = -2 1Tk 2] g,
e a & 3 XU} At
@D 0<a<3 @ -2<a<3 ® -2<a<3

@ -2<a<0 B -2<a<0



@ 4 3 6 @ 8 ® 10

@D 2



@ -4

® -12



16. 24xa 7} oJ® A A9 AlFo] 2w, A o] H&g27

D 9 ® 12 A 36 @ 54 A 100



17. Al 2 a, b, col W5te] a > 0, be < 0, g >0d i, RE57}1 27

243 Ze?

b
@ a+c<0 @ZC>O ©)

@ b-c>0 ® a-b<0

<0

SR



18.

2.999 x 7 & AltsheH VS AHED 4 e At A2

®a+b=b+c

® ab+c)=axb+axc

® ax(bxc)=(axb)xc

X

@ axb=bxa

@ (a+b)+c=a+(b+c)



19. % 2% 20xx & 15xx 9 FF7E4 AL 0 x 9] o] B 4 Q=
g A o] At BE @ A

@D 174 @ 274 B 370 @ 474 ® 570






